Math 1B (7:30am — 8:20am)
Midterm 1
Tue Oct 13, 2009

SCORE: /120 POINTS + /20 POINTS

What month is your birthday ?

What are the first 2 digits of your address ?

What are the last 2 digits of your zip code ?

What are the last 2 digits of your social security number ? b
[ITF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER|

NO CALCULATORS ALLOWED

For full credit, you must show the work which leads to all numerical and algebraic answers

&

S (1) dt . where f(t) is the continuous function in the table below. Find F'(1).

Let F(x)= j

SCORE: __ /10 POINTS

X -5 -4 3 -2 -1 0 1 2 3 4 5
f(x) 7 9 10 13 12 10 7 3 2 2 5
iz 1.2 0.5 1.8 0.4 1.0 2.0 3.0 14 0.2 2.4 1.2
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Find the average value of f(x) = ~————— on [, 9] SCORE: /15 POINTS
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Estimate J.f{,\’) dx using Trapezoidal Rule with n =3 . SCORE: __ /10 POINTS
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Give the complete definition of the definite integral.
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Compute the exact area under the graph of f(x) =6 —2x on it [—1 2] using the limit of SCORE: ___ /20 POINTS
the right- endpmnl Riemann sum.
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SCORE: ___ /10 POINTS
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Find the area between y = 6x —3x” and y = 0 on the interval [1, 4]

) SCORE: ___ /15 POINTS
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Evaluate the following integrals. SCORE: __ /40 POINTS
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Math 1B (7:30am - 8:20am) What month is your birthday ?

Midterm 1 What are the first 2 digits of your address ? PG TRT

Tue Oct 13, 2009 What are the last 2 digits of your zip code ? <L S
What are the last 2 digits of your social security number ? L

SCORE: ___ /20 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

You must turn in the no-calculator portion before
% you pick up your calculator for this portion *
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Consider the definite integral jSSin 2% dx.. SCORE: __ /20 POINTS
0

[a] What is the value of S|, ? Round your answer to 4 decimal places.

-~ — - B8
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[b] What is the value of M., ? Round your answer to 4 decimal places,
™ T
vl % LAl D45

[c] Find bounds on the error for the approximation in [b] using the error bounds formula. Show vour work.
You can leave your simplified answer in terms of 7.
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BONUS POINTS ON OTHER SIDE




